AXIS

3
http://www.kk-axis.co.jp :|E|L¥=‘

et S

PO i

AIR COMPRESSOR (PARTS LIST)

e )

174

£id]
ge o

ITEM PART NO. R em PART NAME QTY REMARKS
1 0071020170 |22 B AR Cylinder Head 1
2 0071020171 DY EANYRHIN— Cylinder Head Cover 1
3 0071020172  |HR&vk Gasket 1
4 RILE Bolt 22 |M6x16
5 0071020174 |20 % Cylinder 1
6 0071020175  [H R4 vk Gasket 1
7 ALk Bolt 4 |M8x25
8  [0071020177 |95v945—R Crank Case 1
9  [007102P201 |/%v¥> Packing 1
10 |007102P202 |/Sw¥y Packing 2
11 |0071020180 |R&YRARILE Stud Bolt 4
12 Fvk Nut 4 M8
13 |0071020182 |A AL —ThN— Oil Gauge Cover 1
14 |0071020183 |ZE&ikREH/N— Air Bleed Cover 1
15 0071020184 RF7YTHIN—2 Bearing Cover 2 1
16 |007102P203 |/Sw¥> Packing 1
17 |0071020186 |54 Plug 1
18 |007102P204 |/8w¥> Packing 1
19 |0071020188 |RFYL ST H/ — 1 Bearing Cover 1 1
20 |007102B311 [R7YL4 Bearing 1 |6204
21 |007102B312 |RF7U4 Bearing 1 |205
22 |007102P205 |/Sw¥k> Packing 1
23 ALk Bolt (M6 7 18) 8 |M6x18
24 |0071020193 |T—1)— Pulley 1
25 |0071020194 |F— Key 1
26 RT)GIyx Spring Washer 1 |M16
27 Fvk Nut 1 [M16
28 Fk Nut 1 [M20
29 0071020198 |AAILF—DUTS Oil Gauge Knob 1
30 |0071020199 |AAILF—T Oil Gauge Bar 1
31 0071020200 |aARHFr o Oyk (L) Conecting Rod (Upper) 1
32 0071020201 |[axoFr45OvkR (F) Conecting Rod (Lower) 1
33  |0071020202  |f#ftAILE Bolt 2
34 AT T Iy Spring Washer 2 |M6
35 Fk Nut 2 |M6
36 |0071020205 |ZESIREARIK Air Bleed Body 1
37 |0071020206 |Z=SIRET4 Air Bleed Cap 1
38 |0071020207 |fAMAAE Pipe 1
39 |0071020208 |#h% Shaft Support 2
40 |0071020209  |EHS: Shaft Support 1
41 0071020210 |ERFUEY Piston Pin 1
42 10071020211 |HRYLY Gas Ring 2
43 |0071020212  |A ALY Oil Ring 1
44 10071020213 |ERkY Piston 1
45 10071020214 |H—4)vT Circlip 2
46 vk Nut 1 M4
47 0071020216  [/N)LT—hk 1 Valve Seat 1 1
48 (0071020217  [/N)LTHAK 2 Valve Guide 2 1
49  |0071020218  [/3)LTD 1 Valve 1 1
50 |0071020219  [/3)LT 2 Valve 2 1
51 0071020220 [/\)LTL—h 2 Valve Seat 2 1
52  |0071020221  |[/N)LTHAK 1 Valve Guide 1 1
53 |0071020222 [R5 Spring 2
54 0071020223 |A AL —IL Oil Seal 1
55 0071020224 |95 % Tk Crank Shaft 1

2


http://www.kk-axis.co.jp/

AIR COMPRESSOR




	Illust_Page
	List_Page


	Button2: 


